

2022-23 Youth Dance Tuition/Schedule

Schedule + Intensives:

Fall: 8/15 --- 12/18/2022 Regular Classes (17 weeks)

Winter: 12/19 --- 12/23/2022 Winter Intensive (5 days)

Spring: 1/2 --- 6/11/2023 Regular Classes (23 weeks)

Summer: 6/12 --- 8/6/2023 Summer Intensive (8 weeks)

Holidays:

11/21/2022 — 11/27/2022 Thanksgiving Break (1 week)

12/24/2022 — 1/1/2023 Christmas & New Year Break (9 days)

8/7/2023 — 8/13/2023 Summer Break (1 week)

2022-23 Level Requirements

We recommend taking more classes than indicated below to achieve your highest level of training. Below is the bare minimum requirement for each age group.

Age 3-5	Two 1-hour group class per week	
Age 6-8	Two 1.5-hours group classes per week	
Age 9-11	Three 1.5-hours group classes per week	
Age 12+	Four 1.5-hours group classes per week	
Competition Teams (please inquire if interested)	Four 1.5-hours group classes per week + 3 hour rehearsals per week	



2022-23 Annual Tuition

	classes/week	Annual Tuition Regular classes (40 weeks)	Early Bird 10% Discount (if paid by 8/22/2021)	You Save
1hr	1 class/wk	40 x \$27 = \$1,080	\$972	\$108
Classes	2 classes/wk	40 x \$50 = \$2,000	\$1,800	\$200
	1 class/wk	40 x \$40 = \$1,600	\$1,440	\$160
1.5hr classes	2 classes/wk	40 x \$60 = \$2,400	\$2,160	\$240
	3 classes/wk	40 x \$88 = \$3,520	\$3,168	\$352
	4 classes/wk	40 x \$114 = \$4560	\$4104	\$456

^{*}Summer and Winter Intensives tuition will be announced closer to date.

2022-23 Tuition Rates (Semester Rate)

# of hours	\$/week*
1hr and walk-in	\$27
1.5hrs and walk-in	\$40
2hrs	\$50
3hrs	\$60
4.5hrs	\$88
6hrs	\$114

^{*(\$/}week) multiply by (n) weeks/semester



YDA Private & Small Group Rates:

Private Package	Per hour rate (per person)*	10hr package (per person)
1 pax	\$110/hr	\$1000/10hrs
2 pax	\$75/hr	\$700/10hrs
3 pax	\$65/hr	\$600/10hrs
4 pax	\$55/hr	\$500/10hrs
5 pax	\$50/hr	\$450/10hrs
6 pax	\$45/hr	\$400/10hrs
7-10 pax	\$40/hr	\$350/10hrs

^{*}These prices are for YDA Competition Team Members Only.

YDA Artistic Director + Guest Teachers Private & Small Group Rates:

Private Package	Per hour rate (per person)*	10hr package (per person)
1 pax	\$130/hr	\$1200/10hrs
2 pax	\$85/hr	\$ 750/10hrs
3 pax	\$75/hr	\$650/10hrs
4 pax	\$65/hr	\$550/10hrs
5 pax	\$55/hr	\$500/10hrs
6 pax	\$50/hr	\$450/10hrs
7-10 pax	\$45/hr	\$400/10hrs

^{*}These prices are for YDA Competition Team Members Only.



Private & Small Group ONLY Rates:**

Private Packages	Per hour rate (per person)	10hr package (per person)
1 pax	\$150/hr	\$1400/10hrs
2 pax	\$85/hr	\$750/10hrs
3 pax	\$75/hr	\$650/10hrs
4 pax	\$65/hr	\$550/10hrs
5 pax	\$55/hr	\$500/10hrs
6 pax	\$50/hr	\$450/10hrs
7-10 pax	\$45/hr	\$400/10hrs

^{**}These rates apply to non-YDA Competition Team Students, and/or students that only take private or small group classes without regular classes.



Frequently asked Question & Answers

1. Question about tuition

Tuition is collected at the beginning of every trimester, for the entire trimester. The dance year will include three regular class sessions and two summer intensives. Tuition can be paid monthly, per semester, or annually (10% discount). Please be aware that if you decide not to continue participating in the dance class, there are no refunds, no credits of tuition.

2. What discounts do you offer?

Students who pay annual tuition will get a 10% discount. The more regular classes you attend, the more discounts you will receive. There will be no discount given for multiple students from the same family. Credits cannot be transferred in between family members.

3. What if I missed the class?

Missed class can be made up by taking another class only if a notification is given at least 24 hours prior to the beginning of the class. Classes must be made up within one month of the class that was missed.

4. How many class hours do you recommend each week?

• Ages 3-5: 2 hours

• Ages 6-8: 3 hours

• Ages 9-11: 4.5 hours

• Ages 12+: 6 hours

5. How do I participate in the competition teams/compete in a solo?

You must meet the class requirements for competition teams. We may talk to you in private if your child has potential. If you are interested, please ask us as well and we will guide you through the process.



6. Why should you participate in competitions?

It will help the child to gain confidence, discipline, exposure, and improve in time management skills. We do want our students to succeed both academically and artistically hence they will have to learn to manage their time to succeed in both. Furthermore, these competitions will look good for their college application in the future. The students will also have many opportunities to be exposed to the art world and understand the importance of art for their future growth and development.

7. What benefit students can get from us.

- We help students who dance in our studio to request P.E. Waivers.
- We have many connections with universities, art schools, and big arts organizations internationally such as UC, Irvine, OCSA, Pacific Symphony, Beijing Dance Academy, Bowers Museum just to name a few.
- We help students who dance in our studio to complete their community service hours.
- We provide scholarships for outstanding students every year.
- We host multiple masterclasses throughout the year.